L |--> L+R+L-R+L+R-L+R-L+R
R |--> L-R+L-R+L-R-L+R-L-R
Axiom: L+R+L-R+L+R-L+R-L+R
ID = R10-1

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r =19.0 deg (A=1.0, S=1.163769) t=+1 cs = default
Jorg Arndt 2017-December-01, 12:36:29 (1512128190-000467)



L |--> L+R+L-R+L+R-L+R-L-R
R |--> L+R+L-R+L-R-L+R-L-R
Axiom: L+R+L-R+L+R-L+R-L-R
ID = R10-2

d=14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-59.0 deg (A=1.0, S=1.239899) t=+1
Jorg Arndt 2017-December-01, 12:36:30 (1512128190-908300)

cs = default



L |--> L+R+L-R+L+R-L-R+L+R
R |--> L-R-L+R+L-R-L+R-L-R
Axiom: L+R+L-R+L+R-L-R+L+R
ID = R10-3

d=14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-35.0 deg (A=1.0, S=1.234104) t=+1
Jorg Arndt 2017-December-01, 12:36:31 (1512128191-839232)

cs = default



L |--> L+R+L-R+L+R-L-R-L+R
R |--> L-R+L+R+L-R-L+R-L-R
Axiom: L+R+L-R+L+R-L-R-L+R
ID = R10-4

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-84.0 deg (A=1.0, S=1.429435) t=+1
Jorg Arndt 2017-December-01, 12:36:32 (1512128192-742388)

cs = default



L |--> L+R+L-R+L-R-L+R-L-R
R |--> L+R+L-R+L+R-L+R-L-R
Axiom: L+R+L-R+L-R-L+R-L-R
ID = R10-5

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r =31.0 deg (A=1.0, S=1.239899) t=+1
Jorg Arndt 2017-December-01, 12:36:33 (1512128193-638796)

cs = default



L |--> L+R+L-R+L-R-L-R+L+R
R |--> L-R-L+R+L+R-L+R-L-R
Axiom: L+R+L-R+L-R-L-R+L+R
ID = R10-6

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-90.0 deg (A=1.0, S=1.424863) t=+1
Jorg Arndt 2017-December-01, 12:36:34 (1512128194-560581)

cs = default



L |--> L+R+L-R-L+R+L+R-L-R
R |--> L+R+L-R-L-R+L+R-L-R
Axiom: L+R+L-R-L+R+L+R-L-R
ID = R10-7

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-47.0 deg (A=1.0, S=1.409636) t=+1
Jorg Arndt 2017-December-01, 12:36:35 (1512128195-398325)

cs = default



L |--> L+R+L-R-L+R+L-R+L+R
R |--> L-R-L+R-L-R+L+R-L-R
Axiom: L+R+L-R-L+R+L-R+L+R
ID = R10-8

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-51.0 deg (A=1.0, S=1.193339) t=+1
Jorg Arndt 2017-December-01, 12:36:36 (1512128196-295927)

cs = default
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| --> L+R+L-R-L-R+L+R+L-R
| --> L+R-L-R-L+R+L+R-L-R
xiom: L+R+L-R-L-R+L+R+L-R
D = R10-9

L
R
A
I

d .
o g . 4. iterate 100000 lines 10 paths
- * w=1.5 r = -
J6rg Arndt  2017-D 48.0 deg (A=1.0, S=1.738266)  t=+1
-December-01, 12:36:37 (1512128167-203413) cs = default



YR IR . PR TR
o T A LR R
R B 8 6 80 80660 X
3 R 2 .
2 2 v

S 3 BB R 2%
R IR O R
R TR '

TG RN G 9

| --> L+R+L-R-L-R+L+R-L-R
| --> L+R+L-R-L+R+L+R-L-R
iom: L+R+L-R-L-R+L+R-L-R

L
R
Ax

ID = R10-10

d =14 4. iterate 100000 lines 10 paths

e =0.0 w=1.5 r =25.0 deg (A=1.0, S=1.635774) t=+1
Jérg Arndt 2017-December-01, 12:36:38 (1512128198-128981)
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cs = default
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L |--> L+R+L-R-L-R+L-R+L+R
R |--> L-R-L+R-L+R+L+R-L-R
Axiom: L+R+L-R-L-R+L-R+L+R
ID = R10-11

d=14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=20.0 deg (A=1.0, S=1.424863) t=+1 cs = default
Jorg Arndt 2017-December-01, 12:36:39 (1512128199-041527)



L |--> L+R+L-R-L-R+L-R+L-R
R |--> L+R-L+R-L+R+L+R-L-R
Axiom: L+R+L-R-L-R+L-R+L-R
ID = R10-12

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-8.0 deg (A=1.0, S=1.391137) t=+1
Jorg Arndt 2017-December-01, 12:36:39 (1512128199-856457)

cs = default



L |--> L+R-L+R+L+R-L-R+L-R
R |--> L+R-L+R+L-R-L-R+L-R
Axiom: L+R-L+R+L+R-L-R+L-R
ID = R10-13

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=19.0 deg (A=1.0, S=1.290887) t=+1
Jorg Arndt 2017-December-01, 12:36:40 (1512128200-740485)

cs = default



L |--> L+R-L+R+L-R-L-R+L-R
R |--> L+R-L+R+L+R-L-R+L-R
Axiom: L+R-L+R+L-R-L-R+L-R
ID = R10-15

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-5.0 deg (A=1.0, S=1.412423) t=+1
Jorg Arndt 2017-December-01, 12:36:41 (1512128201-639544)

cs = default



L |--> L+R-L+R-L+R+L+R-L-R
R |--> L+R+L-R-L-R+L-R+L-R
Axiom: L+R-L+R-L+R+L+R-L-R
ID = R10-16

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r =60.0 deg (A=1.0, S=1.301859) t=+1
Jorg Arndt 2017-December-01, 12:36:42 (1512128202-535862)

cs = default



L |--> L+R-L+R-L+R+L-R+L+R
R |--> L-R-L+R-L-R+L-R+L-R
Axiom: L+R-L+R-L+R+L-R+L+R
ID = R10-17

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-51.0 deg (A=1.0, S=1.137738) t=+1
Jorg Arndt 2017-December-01, 12:36:43 (1512128203-433877)

cs = default



L |--> L+R-L-R+L+R-L-R-L+R
R |--> L-R+L+R+L-R-L+R+L-R
Axiom: L+R-L-R+L+R-L-R-L+R
ID = R10-18

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=11.0 deg (A=1.0, S=1.475743) t=+1
Jorg Arndt 2017-December-01, 12:36:44 (1512128204-344448)

cs = default
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s = default
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Jérg Arndt



L |--> L+R-L-R-L+R+L-R+L+R
R |--> L-R-L+R-L-R+L+R+L-R
Axiom: L+R-L-R-L+R+L-R+L+R
ID = R10-21

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r=-6.0 deg (A=1.0, S=1.429435) t=+1
Jorg Arndt 2017-December-01, 12:36:46 (1512128206-113601)

cs = default



L |--> L+R-L-R-L+R+L-R-L+R
R |--> L-R+L+R-L-R+L+R+L-R
Axiom: L+R-L-R-L+R+L-R-L+R
ID = R10-22

d =14 4. iterate 100000 lines 10 paths
e =0.0 w=1.5 r = 68.0 deg (A=1.0, S=1.244929) t=+1
Jorg Arndt 2017-December-01, 12:36:47 (1512128207-034406)

cs = default



